KeHrypvH 3agHuu
CAN-AM Traxter 1000 CVT

Material: steel

L/
HanmeHoBaHne KeHrypuH Komnnektauus :"%?Q :‘ TEQ

1) 1x Bamnep = =
OcH.4yacTb 40. MP 0665 2) 2x 3awwra 6opTa M6= 9.8Nm||[M8 = 24 Nm

3) 2x NnactuHa

4) 2x KpoHLuUTenH
4x BuHT M6X60
2x BuHT M6X50

2x BuHT M8x20
4x BuHt M8x80

6x Manka M6
4x Nanka M8

4x lllanba 6
2x Lllan6a 8

2x LllanGa 8r
2x LLlan6a 6ysen.

10x Lan6ba 8ysen.

1 or

www.stormprotect.ru



